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—I15
—10 —I
97 — 20 —II 97
—20
—I
—II 97
6.0.2 97
— 20 —20
I
97 —20
—10
—Il
—I
—I1l
97
I
6.0.3
CB/T 50283
207 328 305 101
6
300
97 — 20
97 —20
Ksy = S/ Sy S,
Sox
97 Sy —20
— 20 K-S
100
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Sex 95%

97
11% 7% 97
5% 1%
qk Py
9k Py
— 20 —20
—II —20
—I — 20
6% —8 %
6.0.4 6.0.1
97
— 20 550kN —20
140/120 = 1.167
6.0.5
97
6.0.6
9.75m
97 3.50 ~
3.75m 10.5m
3.10m 2.50m 0.6m 9.75m
N 3.5m
3.5N 3.5 N+1
3.5x 3=10.5m 3.5x4=14.0m
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3.5/V 3.5 N+

2 3.5%x2=7.0m 3.5x4=
14.0m 7m
6m
97
BS 5400 OHBDC ASCE
6-1
61
1 2 3 4 5 6 7 8
BS 5400 1.0 2.0 [ 2.3312.67| 3.0 | 3.67| 4.0
OHBDC 1.0 1.8 2.4 2.8 3.0 3.3 | 3.85 4.3
ASCE 1.0 | 1.7 | 2.1 | 25|29 | 3.3 | 3.7 4.1
88 1.0 2.0 2.4 2.8 3.5 4.2 4.9 5.6
97 1.0 2.0 | 2.34|2.68| 3.0 3.3 | 3.64 4.0
6.0.7
100
95%
6-1
a = 0.97913 - 4.7185 x 107 L, 6-1
a
Ly——
Ly
Ly > 150m
6.0.8
95%
3.0kN/m?
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2.5kN/m? 50m

3.0kN/m? 150m
2.5kN/m? 50m 150m
97
1.15 3.5kN/m?

98%
7
7.0.1

30m
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7.0.2

250m
18% 1000m 58% 500m
500m
500m
500m
500m
7.0.3 L L
L
L
7.0.4
4%
3%
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7.0.6

7.0.7

8.1
8.1.1
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8.1.2

4.5

8.1.3

8.1.4

153

4.0km
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~10

3.9km

GDP



~10km
8.1.5

8.1.6

8.2
8.2.1

500m

600m

1000m

15~ 25km

1000m

155
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8.2.2

8.2.3

8.2.4

8.3
8.3.1

8.3.2

8.3.3

10:6.5~10:8.5



8.3.4

8.3.5
8.4
8.4.1
140km/ h 1435mm
8-1
8-1 km/h
I Il
140 120 120 100 100 80
140 120 120 100 100 80 80
120 100 80 100 80 100 80 80
1981
81 532
1994 1997 1999 7
o 120 100 80km/h
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140 120 100km/h 20000

2000 0.13
140km/h
8.4.4
45°
50m
8-2
8-2
km/h m m
140 1200 470
120 900 400
100 850 340
80 850 270
8.5
8.5.2
8.5.4
4.00m 7.00m 6.50m
4.50m
7.00m 4.50m
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2.70m
3.20m

8.6
8.6.1
78 698 78 452

8.6.5 110 ~
500kV

9.0.1

9.0.2 10

85.6%

ABCD
9.0.3
67 -



9.0.4

A
B
C
D
A B
12m
9.0.5

68 -

GB 5768 - 1999



150km 11km

20
45 .6km 35km ~ 55km 61%
30km
50km 81.4%
85.8%
5~10
15 ~ 30km
60%

30%

69 -



Al

9.0.6

A2

70 -

97

82.4%

94.1%



7 -



